___Noa _ EINELERET

IEE D HAORE igi
EER S Original ELESA Model ND.Q

RT3 #if
(A7 285 AL) | (AR LMERAT)
DXHELT TV | S Ay E

s & W | Wi | W2 M Lf|Hi | H| A ﬁgﬁfﬁﬁi) %if‘
NDQ30 X 1.5-M10 M10Xx15 | 15 56
NDQ30x1.5-M12 | 30 | 30 | 27 |M12x1.75| 18 | 6 | 33 |275 17 51
NDQ30x 1.5-M16 M16x2 | 20 38
NDQ40Xx2 -M10 M10x15 | 15 85
NDQ40x2 -M12 | 40 | 40 | 36 |M12x1.75| 18 | 8 | 43 |365 18 80
NDQ40%x2 -M16 M16 X2 20 67
NDQ50x2 -M16 46 Mi6x2 | 20 165 156
NDQs0x2 M20 | o M20x25 | 30 | | ' 2 132
NDQ50 X 2.5-M16 45 M16X2 20 455 152
NDQ50 X 2.5-M20 M20x25 | 30 ' 128

il —%

{#EABE max.120°C min.—30°C

7EE - 8 TEL.0575-28-4811 TEL.0575-32-2239 (i1 97 D-iKL-J3J



